Law of Cosines ... Set 1

The Law of Cosines

Find each measurement indicated. Round yvour answers to the nearest tenth.

1) Find RT 2) Find YZ
T X
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3) Find DE 4) Find ST
E 5
10
D 26 g 16
T 12 R
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10) Findm-/A4
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Solve each triangle. Round your answers to the nearest tenth.
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25 27
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Find each measurement indicated. Round your answers to the nearest tenth.

1) Find RT
T
23
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R 15 S
3) Find DE
E
207 10
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D 26 F
5) Find mzs 4
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7) Find msR
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9) Find m/E
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Answers

2) Find YZ

X
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4) Find ST
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6) Fmd msS
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13) 14)
o 16 P F
\\ — 78°
R E 23 D
15) In ASTR. mzS5=117.8° r=204, =221 16) In ARPQO. g=11. p=22. msZR=96°
17) In ARST. s =13, r=30, r=20 18) nA4BC, a=198, b=19.1, c¢=16.7
Find the area of each triangle to the nearest tenth.
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Answers
13) 14)
16 P F
0
17.56¢ 78"
R E 73 D

15) In ASTR. m£S=117.8°, r=204, t=22.1 16) InARPQ. g=11, p=22. mZR =96°

msIT =325 mszR =297 s=364 msP =587 ms0=253"r=256

17) In ARST. s =13, r=30, t=20 18) In A4BC, a=19.8. b=19.1. ¢=16.7

msR=129.6° ms5=19.5° msT =309° msAd=0668% msB=0624° msC=508

Find the area of each triangle to the nearest tenth.

19) . 20) .
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. 15 < 4m
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